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Name

1. Calculate the minimum number of moles of ethylene glycol (HO-CH2-CH2-OH) needed to
produce a gel when reacted with 2 moles of difunctional acid and 1 mole of tetrafunctional acid.

(5 points)

2. Dow Chemicals wishes to limit chain length in their linear polycondensation reaction by
adding monofunctional BC to the equimolar AA, BB reactant mix. Obtain an expression for the
maximum number-average chain length possible at 100% conversion, (X,)max, when Ng moles of

B are added per mole of AA or BB. (5 points)

n/N=P*V (1-P) ; x,=1/(1-P) ; x,= (t+1)/(-2tPs+1+1) ; PDI=1x,/ %,
w/W = (x n,) / (%,N) =x P*V (1-P)* ; %,=(1+P)/(1-P)
o= (Pa P p)/[1- Po Ps (1-p)] ; o= 1/(f-1)
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